g ;i“ﬂa!‘a--ﬂz 30 :
QRS =

 @ORERR 12:00

@ Oit&I2 13:00

@wﬁnm17oo

& 11:30

)"

M!& O 71 E—2457 1| @ LHOHWZINE| ©SOKKENA3774| O AEM2HHE Oy IS I g
B B[] FwUINCO| BENLwBLRY|DeNAwAUvs|0 v Ful\YT7
:LE)« #wwl v F[\YJ77wE K| HBwHFN\L[YVINUIwDeNA
B vs o BIE AwEEILINYT7wYINUIBENLY 1l )
m BAwO v FIYLAVYwE A
mEH (FiRE)
DeNAstP BIUARYvwHAUwHZ(O v F vzt ] = A vs BR i
14f=0vo2xwE A3 WwDeNA[lm ®wx =x YINY vs BE N L
CEfED v FevINOS S ARV wE B IL[F O bR B X _Rewm B
6Pl MwDeNA|VINWIwE  W[AUvsZRwD v FINYIFwE A
17 [ 3 wEH (FHE)
18 8 E AvsVINo(O v FvslR GBS X vs 3} 1 DeNAvwm@EIL
1943 WwHEANL|EEILE  A|FUvIZAw/N\YT7 YLhRVwO v 7
sll%  FwAUys2|0 v FwYINUIEBENLwh B '
A=V LAV wE  E[N\YIrwBAFNL[VINTIwDe N A O #MmwE A
22:7} wEH (FiHE)
23%PAD e N Avsg @ | L[} Ll vs BR #wO v FwewH LAY =] A\ T 7
PN ok PENIYZE = INE: Bv/\Y77|mEILvwHAX/NLAL 3 LeE %
B0 0 v T N\YIFP|YLRAYwYINUI|E  Fwp  B|IE AwFAUvSR|E  Hw@EIL
26a [ ®EH (FiHE)
7. P LAV vsD e NA[YIMNIIIwDO v F|AUvIZ w3t 1l o HwBANLA
8=l oLt B[E O Awd  WNAYIrFeR EILBEFNLwWYLRY|E XKwlk @
ﬁ OEP HvsBE )\Q|Lvs¥ x| BR #HvwsDeNA @ZUUQZV;D W T
| pragnen
10, O JRISHIMA @ xumm |0 mmzssra |@ HURSMAE o HRIBRSLE
BafitdE  Avsh Bl3 vk B|A Hwk MYIIbvmEIL
QM E | Lvs3t WE  BwBE  A[YLAZXVwH B|FUvIZ s ¥ J U b
104D e NAvsH LR V|0 v Full B POIbvER  #|E KwAUvsR
Mol B | Lvs®x  XK|E  BwDeNA|YINWIwE  H[3 WWwPIKOKR #w/\YT7
12 FEH (FEE)
13f=ml ¥ Fwilh B|fE Be/\VIF|PINLLwYINOIIBERNALAEEIL
14af1= - MEILvwO v F[E Bwfli KN\ YI7wPIIb|d HwHY LRV
A H DeNAvs/\J77’ ] EﬁVSZUJ?Z B&EI\L vs R R =] A vs 3 1L
16l U Ls X vs X x| L BvwBHAE/N\L|MEILH E|fF Hwvolhb
178 [ wEH (FiwE)
18 BEEXNL v AUV N Y T Pw]E BB Hwd APINVbwBLIY
14T HwDeNA|L BwE X|/R #wld ® YINIIT v ¥ 5 U |
0. LAV vsElE  ®IE  Awl BB Hwd WP INbwEBEILIDeNAsNAYT7
Hef=F  Hwid WEEILwO v F|E Bwfl  R[AUYIRw P IILE
22: 0z FEH (FiHE)
3P  EFwysNUs|BFNLwE @ B|E  HwAUyIR(PIIbwd H
e d AUy ZAvsD e NA|IL  BvwD v FIYLAYwE  H|IR #MwPIILb
5B A/ LvsBR  #@|DeNAwl B YoIbbvwst L
26a [ : 2H (FiwH)
TafmlE  MvE AR BwE X[N\VIrwf REERILwPILE
28:fzl0 v Fvn H[De NAwAUYIZ|E & v YINY
20z VoMo BENL|E @ BwHARV|OF WwlE  BRNAYIFPwYIILE

ENPBUAOBARRRBICOVWT U= UXP—X(BE) NV I7=N\VIT7A—FA(BE) BLAY=BLAVS/F /X (BE), WEIL=REP 15>~ KU—IplusiBik

#BRLCOFTFELTRBEELEDIWSNT

XVWET




